Commutative Law of Addition (A)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

1+4= 8+4=
9+ 16 = 19+ ;=
31+ 22 = 28+%:
23497 = 1.98 + 3 =
187 + 57 = 310 + 192 =
430 + 156 = 14 4397 =
296 + 515 = 103 + 794 =
318 + 890 = 889 4 70 =

24+1.94+1318 =
2728 +821+1=
3.362 + 1 + 1911 + 2895 =

1.706 + 2935 + 4730 + % =
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Commutative Law of Addition (A) Answers

Name:

11.

13.

15.

17.

18.

19.

20.

Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

1+4=4+1 2.

9+16=16+9 4.

31+22=22+31 6.

234+97=97+123 8.

187 +57 =57 + 187 10.

430 4 156 = 156 + 430 12.

296 4+ 515 = 515 + 296 14.

318 + 890 = 890 + 318 16.

8+4=14+8
19+1=2+19
28+ 3 =13 +28
1.98+ 3 =7 +1.98
310 + 192 = 192 + 310
14 +397 = 397 + 14
103 + 794 = 794 + 103

889 +70 =70 + 889

£+1.94+ 1318 =1.94+ 1318+ £ (4 other possibilities)

2728 +8.21 + % =8.21+ % + 2728 (4 other possibilities)

3.362 + % + 1911 + 2895 = % + 1911 + 2895 + 3.362 (22 other possibilities)

1.706 + 2935 + 4730 + £ = 2935 + 4730 + ¢ + 1.706 (22 other possibilities)
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Commutative Law of Addition (B)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

34+2= 2+9 =
25+ 11 = 2 4+33=
25+9 = 25+ % =
15+ 5.8 = 133+ 1 =
29 4 228 = 93 + 252 =
374 + 248 = 337 4 268 =
603 + 338 = 558 + 234 =
650 + 53 = 902 + 162 =

140.02+1099 =
£42572+43.74 =
2398 + 3.843 + 2 + 1055 =

1.554 + 2984 + 4058 + £ =
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Commutative Law of Addition (B) Answers

Name:

11.

13.

15.

17.

18.

19.

20.

Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

3+2=2+3

25+11 =11+ 25

254+9=9+25

15458=58+15

29 - 228 = 228 + 29

374 + 248 = 248 + 374

603 4+ 338 = 338 + 603

650 + 53 = 53 + 650

140.02+1099 = 0.02 + 1099 + %

24 2572+3.74=2572+3.74+ 2

2.

10.

12.

14.

16.

24+9=9+2
$4+33=33+1
25+¢=2+25
1334 ¢=;+133

93 +252 = 252 + 93
337 + 268 = 268 + 337
558 + 234 = 234 + 558

902 + 162 = 162 + 902

(4 other possibilities)

(4 other possibilities)

2398 + 3.843 + % + 1055 = 3.843 + % + 1055 + 2398 (22 other possibilities)

1.554 + 2984 + 4058 + £ = 2984 + 4058 + £ + 1.554 (22 other possibilities)
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Commutative Law of Addition (C)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

2+3= 15+ 4 =
25+7 = 23+ % =
36 +5 = 8+%:
3+9.9= 133+ 3=
37 + 226 = 109 4 265 =
397 4 163 = 505 + 70 =
58 + 388 = 305 + 627 =
160 + 784 = 68 + 658 =

929 + 3 +6.12 =
3.77 + § + 2615 =
3.068 + 3 + 1251 + 2882 =

2.319 + 3237 + 4202 + % —
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Commutative Law of Addition (C) Answers

Name:

11.

13.

15.

17.

18.

19.

20.

Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

. 24+3=3+2

25+7=7+25

. 36+5=5+36

3+99=99+3

37 + 226 = 226 + 37

397 4163 = 163 + 397

58 + 388 = 388 + 58

160 4 784 = 784 + 160

929 +1+6.12=1+6.12 4929
3.77 + 1 4+ 2615 =1 4+ 2615 + 3.77
3.068 + 1 + 1251 + 2882 = 1 + 1251 + 2882 + 3.068

2.319 + 3237 + 4202 + 3 = 3237 + 4202 + ¥ + 2.319

2.

10.

12.

14.

16.

15+4=4+15
23+3=%+23
8+2=2+8
133+ 1 =3%+1.33
109 + 265 = 265 + 109
505+ 70 = 70 + 505
305 4 627 = 627 + 305

68 + 658 = 658 + 68

(4 other possibilities)

(4 other possibilities)

(22 other possibilities)

(22 other possibilities)
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Commutative Law of Addition (D)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

2+4= 3412 =
1542 = 31+%:
38 +10 = 24+11=
74 +8.2 = 1.63+%:
222 4+ 107 = 274 4 56 =
66 + 345 = 150 + 386 =
698 + 21 = 292 4+ 503 =
312 4+ 830 = 824 + 219 =

802 + 2 +0.95 =
2685 +9.34 + 2 =
2 41291 + 2579 + 3.879 =

3572 + 4176 + 7 + 1.684 =
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Commutative Law of Addition (D) Answers

Name:

11.

13.

15.

17.

18.

19.

20.

Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

2+4=4+2

15+2=2+15

38410 =10 + 38

74+4+82=82+7.4

222 +107 =107 + 222

66 + 345 = 345 + 66

698 + 21 = 21 + 698

312 4+ 830 = 830 + 312

802 + 32 +0.95 = +0.95 + 802

2685 +9.34 + 2 =9.34 + 2 + 2685

2.

10.

12.

14.

16.

34+12=12+3
31+1=1+31
2411=11+2
1.63+32 =2 +1.63
274 + 56 = 56 + 274
150 + 386 = 386 + 150
292 + 503 = 503 + 292

824 + 219 = 219 4 824

(4 other possibilities)

(4 other possibilities)

2 +1291 4 2579 + 3.879 = 1291 + 2579 + 3.879 + 2 (22 other possibilities)

3572 + 4176 + % +1.684 = 4176 + % + 1.684 + 3572 (22 other possibilities)
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Commutative Law of Addition (E)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

442 = 6+ 14 =
10 + 14 = I+24=
14 + 50 = 7+1=
10.8 + 4.6 = 74+1.86=
25 + 186 = 260 + 26 =
225 + 395 = 551 + 181 =
453 + 235 = 85 + 706 =
685 + 259 = 663 + 278 =

1203 + 5 +4.68 =
342117 4+ 8.27 =
2225+ 3.218 + 2 + 1393 =

3858 + 2 +1.983 + 3373 =
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Commutative Law of Addition (E) Answers

Name:

11.

13.

15.

17.

18.

19.

20.

Date:

Write each expression in a different way using the Commutative Law of Addition.

442=2+4

10 +14 = 14 + 10

14 450 =50 + 14

108+ 4.6 =4.6 +10.8

25+ 186 = 186 + 25

225+ 395 = 395 4 225

453 4 235 = 235 + 453

685 + 259 = 259 4 685

1203 + 3 +4.68 = 2 +4.68 + 1203
3421174+ 8.27 = 2117 +8.27 + 3
2225 +3.218 + 2 + 1393 = 3.218 + % + 1393 + 2225

3858 + 2 + 1.983 + 3373 = ] + 1.983 + 3373 + 3858

2.

10.

12.

14.

16.

Example: 4+5=5+4

6+14=14+6
I4+24=24+1
7T+:=1+7
14+1.86=1.86+1
260 + 26 = 26 + 260
551 4 181 = 181 + 551
85 + 706 = 706 + 85

663 + 278 = 278 + 663

(4 other possibilities)

(4 other possibilities)

(22 other possibilities)

(22 other possibilities)
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Commutative Law of Addition (F)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

1+4= 8+1=
15+4 = 24+§:
40 4 20 = 31+ 4 =
0.8+ 11.4 = 241.41=
70 + 163 = 199 + 278 =
93 4 431 = 311 + 188 =
245 + 367 = 677 + 229 =
413 + 677 = 242 + 984 =

34313+ 1248 =
2086 + 6.18 + £ =
3 11388 + 2747 + 3.446 =

3930 + 2 +1.872 + 2938 =
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Commutative Law of Addition (F) Answers

Name: Date:

11.

13.

15.

17.

18.

19.

20.

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

1+4=4+1 2.8+1=1+38
15+4=4+15 4 24435 =13+24

40 + 20 = 20 + 40 6. 31+%=2¢+31

0.8+ 11.4=114+038 8 24+1.41=141+%
70 + 163 = 163 + 70 10. 199 4 278 = 278 + 199
93 +431 =431 + 93 12. 3114 188 = 188 + 311
245 4 367 = 367 + 245 14, 677 4229 = 229 + 677
413 + 677 = 677 + 413 16. 242 4 984 = 984 + 242

2 +3.13+ 1248 =3.13 4 1248+ 2 (4 other possibilities)
2086 + 6.18 + % =6.18 + % + 2086 (4 other possibilities)
3+ 1388 + 2747 + 3.446 = 1388 + 2747 + 3.446 + 2 (22 other possibilities)

3930 + £ +1.872 + 2938 = 2 + 1.872 + 2938 + 3930 (22 other possibilities)
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Commutative Law of Addition (G)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

1+3= 6+ 15 =
15+ 8 = T +25=
5+36= 1447 =
109+1.1= T+ 1.17 =
46 + 285 = 122 + 325 =
263 + 55 = 131+ 304 =
660 + 253 = 407 4 138 =
601 + 335 = 110 + 782 =

24+0.29+734=
2497 +2.82+ 3 =
3 41562 + 2148 + 3.846 =

2.405 + 2565 + 4223 + 1 =

Math-Drills.com




Commutative Law of Addition (G) Answers

Name: Date:

11.

13.

15.

17.

18.

19.

20.

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

S 1+43=3+1 2. 6+15=15+6
154+8=8+15 4. 2 4+25=25+1

- 5+36=36+5 6. 1+47=47+1

109 +1.1=1.1+10.9 8 L+117=117+1%
46 + 285 = 285 + 46 10. 122 4 325 = 325 + 122
263 + 55 = 55 + 263 12. 1314 304 = 304 + 131
660 + 253 = 253 + 660 14. 407 4+ 138 = 138 + 407
601 + 335 = 335 + 601 16. 110 + 782 = 782 + 110

£+0.29+734=0.29+ 734+  (4other possibilities)
2497 +2.824+ 3 =2.82+ 2 + 2497 (4 other possibilities)
3+ 1562 4 2148 + 3.846 = 1562 + 2148 + 3.846 + 5 (22 other possibilities)

2.405 + 2565 + 4223 + 5 = 2565 + 4223 + 5 + 2.405 (22 other possibilities)
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Commutative Law of Addition (H)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

2+4= 7+12 =
15+ 6 = 14+32=
24 + 48 = 2433 =
124+ 3.7 = 1.52+ 1 =
105 + 294 = 120 + 277 =
189 + 315 = 479 + 295 =
662 + 303 = 25 + 708 =
47 4+ 798 = 69 + 905 =

5.06 + 843 + 1 =
342111404 =
3.447 + 3 + 1172 4 2089 =

4024 + 3 + 1.545 + 2639 =
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Commutative Law of Addition (H) Answers

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

L 244=4+2 2. 7+12=12+7
3. 1546 =6+ 15 4. t432=32+1

5. 24+ 48 =48 + 24 6. ++33=33+¢

7124 3.7 = 3.7 + 12 8 152+ 3=+ 152

9. 105 + 294 = 294 + 105 10. 120 4 277 = 277 + 120
11. 189 + 315 = 315 + 189 12. 479 + 295 = 295 + 479
13. 662+ 303 = 303 + 662 14. 25+ 708 = 708 + 25
15. 47 + 798 = 798 + 47 16. 69 + 905 = 905 + 69

17. 5.06 4+ 843 4+ 5 =843 + £ +5.06 (4 other possibilities)
18. 2 +2111+ 0.4 =2111+ 0.4+ 3 (4 other possibilities)
19. 3.447 + % + 1172 + 2089 = % + 1172 + 2089 + 3.447 (22 other possibilities)

20. 4024 + g + 1.545 + 2639 = g + 1.545 4 2639 + 4024 (22 other possibilities)
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Commutative Law of Addition (I)

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

2+5= 11+1=
17 +5= 30+%:
24 +38 = 24+18 =
6.3+ 14 = 24+1=
188 +9 = 338 + 112 =
83 4 291 = 261 +432 =
239 + 575 = 297 + 607 =
42+ 476 = 937 4 226 =
§+6.4+969 =

2357 +1.77 + 1 =
3.53 + 1+ 1826+ 2354 =

3786 + 2 + 2.396 + 2887 =
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Commutative Law of Addition (I) Answers

Name:

11.

13.

15.

17.

18.

19.

20.

Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

. 2+5=5+2 2.

17+5=5+17 4.

. 24438 =38+ 24 6.
6.3+ 14 =14 16.3 8.
188 +9 =9 + 188 10.

83 + 291 = 291 + 83 12.

239 +575 =575 + 239 14.

42 + 476 = 476 + 42 16.

11+1=1+11
30+ 1 =1+30

> 1+18=18+2

2+ 5 =75+2
338 + 112 = 112 + 338
261 + 432 = 432 + 261
297 + 607 = 607 + 297

937 + 226 = 226 + 937

% +6.4+969 =64+ 969 + % (4 other possibilities)

2357 +1.77 + % =177 + % + 2357 (4 other possibilities)

3.53 4 1 41826 + 2354 = 1 + 1826 + 2354 + 3.53 (22 other possibilities)

3786 + g + 2.396 + 2887 = % + 2.396 + 2887 + 3786 (22 other possibilities)
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Commutative Law of Addition (])

Name: Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

1+4= 1346 =
1442 = 2443 =
45 +19 = 19+ 3 =
19+ 14 = 24+1.52=
113 + 177 = 34277 =
154 + 408 = 25+ 537 =
140 4 570 = 545 + 360 =
58 4 876 = 166 + 975 =

676 + 3 +2.74 =
0.93 + 3 + 2766 =
3.539 + 3 + 1946 + 2221 =

142.485+ 3633 + 4379 =
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Commutative Law of Addition (]J) Answers

Name:

11.

13.

15.

17.

18.

19.

20.

Date:

Write each expression in a different way using the Commutative Law of Addition.
Example: 4+5=5+4

1+4=4+1

14 +2=2+ 14

45+ 19 =19 + 45

194+14=14+1.9

113 4+177 =177 + 113

154 + 408 = 408 + 154

140 + 570 = 570 + 140

58 + 876 =876 + 58

676 + 32 +2.74 =3 +2.74 + 676

0.93+1+2766 =1+ 2766+ 0.93

2.

10.

12.

14.

16.

13+6 =06+ 13
24+32=2+24
194+3=2+19

2 4+152=152+2
34277 =277 +3

25 + 537 = 537 + 25
545 + 360 = 360 + 545

166 + 975 = 975 + 166

(4 other possibilities)

(4 other possibilities)

3.539 + 3 + 1946 + 2221 = 2 + 1946 + 2221 + 3.539 (22 other possibilities)

% + 2.485 + 3633 + 4379 = 2.485 + 3633 + 4379 + % (22 other possibilities)
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